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1. Which of the following species is paramagnetic ?

A NO™

2 —
B.O2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FoRy6ICQ3xJW

C.CN~

D.CO

Answer: A

o View Text Solution

2. The correct order of electron affinity (EA) is

ANT>0">NO"

B.O" >N*" > NO™

CNT >NO" >0

DNOT >N* >0°"


https://dl.doubtnut.com/l/_FoRy6ICQ3xJW
https://dl.doubtnut.com/l/_Bjj95isEzDRN

Answer: A

o View Text Solution

3. Which of the following is correct order of stability?

A [NiCly) "% < [PdCly) % < [PtCly] >

[Co(H,0),] ™ < [Co(NH,),] ° < [C(CN),] ~°

2

C. [Ni(NHs),] " < [Ni(CN),]

D. All

Answer: D

e l


https://dl.doubtnut.com/l/_Bjj95isEzDRN
https://dl.doubtnut.com/l/_twpUFHPlJ1ru

| ¥ VIEW IEXT Solution ]

4. Which process of purification is represented by the

following series of reaction:

250°C 1400°C

T: +2I, — Tily, —— Ti + 21
(impure) (pure)
A. Cupellation

B. Polling

C. Van Arkel process

D. Zone refining

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_twpUFHPlJ1ru
https://dl.doubtnut.com/l/_TNRq1dNz2eCm

5. The least value of the first ionization energy of

group 14 elements is shown by:

A.Si

B. Ge

C.Sn

D. Pb

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_4YxKnxOAqiOA

6. The atomic numbers of elements X,Y and Z are 19, 21

and 25 respectively. The number of electrons present

in the M-shell of these elements follows the order :

AZ>X>Y

BX>Y >Z7

CZ>Y > X

DY >Z7> X

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_1hy9uxbRaU3j

7.Zieglar natta catalyst is :-

A. R3Al

B.TiCl,

C. Ry Al7iCl,

D. R;B + TiCl,

Answer: C

o View Text Solution

8. when sodium salt (x) is heated, CO2 gas along with

solid (Y) is obtained. (X) is again obtained when CO2


https://dl.doubtnut.com/l/_ww3Pb1FrLKXl
https://dl.doubtnut.com/l/_tujSVUqHD6RI

gas is passed in to aqueous solution of (Y). (X) and (Y)

are:

A. NCLQCO3, NG,2O

B. NCLQCOg, NaOH

C. NCLHCOg, Na2003

D. NCLQCOg, NCLHCOg

Answer: C

o View Text Solution

9. Which of the following reaction gives phenylpropyl

ether.


https://dl.doubtnut.com/l/_tujSVUqHD6RI
https://dl.doubtnut.com/l/_ZNh7YqZNeN1b

OH
KNH, AP
2 =

A.ionly

B.ii only

C.iiand iii

D.iand iii

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ZNh7YqZNeN1b

10. Determine A and B from the following road map

reaction:

NH,

M oc
@HCl |, NeBF,
(3) NaNO, A (Mayor product)

A . CeHsOH, CsHs BF;

B. CeHsN>Cl and Cg H5 F

C.C¢H5N>Cland Cs HsOH

D. CsHs NoCl and Cs HsOH

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ZNh7YqZNeN1b
https://dl.doubtnut.com/l/_ojKz1IA8vpKX

11. Which of the following is an example of Vitamin?

A. Adipic acid

B. Palmitic acid

C. Ascorbic acid

D. Cinnamic acid

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_ojKz1IA8vpKX
https://dl.doubtnut.com/l/_xiNgqyr6G7wc

\O/

does not form cyclic product when reacts with

12.

A. Cl, /CCl4
B. HCI

C. Hy / Ni


https://dl.doubtnut.com/l/_yMrjpP1r2Ybh

D. B?"z /CSQ

Answer: B

° View Text Solution

13. The product A formed in the reaction is:

CH.Br
2@’ +2Na AV eMher A 4+ 2NaBr

CH

o

A


https://dl.doubtnut.com/l/_yMrjpP1r2Ybh
https://dl.doubtnut.com/l/_ws36JmCsiUxv

C.

Hy— CH,
NOSRG

Answer: D

o View Text Solution

14. Major product of the following sequence of

reactions could be:

-

# :;:‘ . Rty Tl MH, (H Hy50
PP I mr——

!



https://dl.doubtnut.com/l/_ws36JmCsiUxv
https://dl.doubtnut.com/l/_IX6rxdAQ4jV6

Q
@5
A.
H
I O
DVl
B.
@]
@/}NH
C.
(o]

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_IX6rxdAQ4jV6

15. What is the correct decreasing order of basicity of

following amines?

Sk IS

e,

H

H
I I III

AIIl > 1> 11
B.I > III > 1II
CIIT>1II>1

D.I>1II > III

Answer: A



https://dl.doubtnut.com/l/_8AAUTeziLgnE

I o View Text Solution

16. Which of the following relation is true, if:
Equal amount of charge of electricity in coulomb is
passed through aqueous solution of AX and BX.
Number of moles of A and B deposited respectively are
Y and Z

A Y=Z

B. YgtZ

C.Z=2Y

D.Y=2Z

Answer: D


https://dl.doubtnut.com/l/_8AAUTeziLgnE
https://dl.doubtnut.com/l/_tpVbmr3B6pDp

o View Text Solution

17. Select the correct effect on the freezing point,

when the aqueous solution of potassium iodide is

added to mercuric iodide.

A. Freezing point is raised.

B. Freezing point is lowered

C. Freezing point does not change.

D. Boiling point does not change

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_tpVbmr3B6pDp
https://dl.doubtnut.com/l/_MIQ5R1jBgcQy

18. At NTP, 10 litre of hydrogen sulphide gas reacted

with 10 litre of sulphur dioxide gas. The volume of gas,

after the reaction is complete, would be:

A. 5 litre

B. 10 litre

C. 15 litre

D. 20 litre

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_MIQ5R1jBgcQy
https://dl.doubtnut.com/l/_2jeFrC6qaTB9

19. When solid lead iodide is added to water the
equilibrium concentration of I ~ in saturated solution
becomes 2.6 x 10~ 3M. What is kg, of Pbly?
A.22x107°
B.8.8 x 10 °

C.1.8 x 108

D.3.5 x 108

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_mbqddT8uIeSe

20. Find the value of AS of the folllowing reaction.
2H,(g) + O2(g9) — 2H>0(g).
Given, AH and AG are —241.60kJmol~! and
—228.40kJmol ~! of H,O at 300 K.

A 44K

B. —88kJ

C. +88kJ

D. —44kJ

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_sgVCa1KDX1Du

Chemistry Subjective Numerical

1. The number of electrons in #* molecular orbitals in

Og_ ion on the basis of molecular orbital theory is

° View Text Solution

2. The number of electrons in the p- orbitals of valence

shell for group 14 elements is ..........

° View Text Solution



https://dl.doubtnut.com/l/_JDgF6RzcG0tl
https://dl.doubtnut.com/l/_FTip2uqisueo

3. The reagent(s) which can be used to distinguish

acetophenone from benzophenone is/are ...

I, and NaOH

° View Text Solution

4. How many dehydrohalogenation products
(including isomers) are possible for 2 -chloro-2 cycl

ohexyl penta ne?

o View Text Solution



https://dl.doubtnut.com/l/_f9cKpSst06WW
https://dl.doubtnut.com/l/_SRQn49khZ2bu

OH

5.

KMTLO4,H2SO4, A KM’I’LO4,HQSO4, A
> X > Y
(Drastic conditions)

KM’I’LO4 ; H2SO4 ; A
(Drastic conditions

A

\
I4
(Drastic onditions)

Count of carbon atoms that will be present in the final

product 'Z'is

o View Text Solution

6. The value of [H ™| in 0.01 mol dm 3CH3;COOH

solution is .......... 10 *moldm 3

(Q/Ka — 417 % 10—3)


https://dl.doubtnut.com/l/_UlrvXPLeNpy7
https://dl.doubtnut.com/l/_bDdSjzUkZvva

o View Text Solution

7. 100 mL of a colloidal solution is completely
precipitated by addition of 5 mL of 1 M NacCl solution.

Calculate the coagulation value of NacCl.

° View Text Solution

8. Consider the given below arrangement of spheres in
two dimensions. The ratio of coordination number of

each sphere in arrangement (I) to coordination


https://dl.doubtnut.com/l/_bDdSjzUkZvva
https://dl.doubtnut.com/l/_nMqnUHInbgzS
https://dl.doubtnut.com/l/_iZjiIBNRVQUb

number of each sphere in arrangement (ll) is .........

(1) (1)

o View Text Solution

9. How many of the following subshells are NOT
possible?

2p, 6f, bd, 3s, 1p, 3f, 4d, 7s, 2d

o View Text Solution



https://dl.doubtnut.com/l/_iZjiIBNRVQUb
https://dl.doubtnut.com/l/_LXqvsKnberl7

10. The rate of decomposition of the sample of a gas
under high temperature and pressure was0. 50 atm s-
1 when15 % had decomposed andO. 25 atm s-lwhen

40% had decomposed. The order of the reaction

° View Text Solution



https://dl.doubtnut.com/l/_VabfE4xmwQx5

